2007 HSC Studies of Religion I1: Multiple Choice

Question 13

Which statement best defines agnosticism?

A X There is no divine or transcendent reality.

B X There is some divine or transcendent reality.

C X It is highly likely there is no divine or transcendent reality.

D « It is uncertain whether there is a divine or transcendent reality.

HSC Statistics on this Question:
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A 33% 23% 11% 4% 1%
B 22% 20% 7% 2% 1%
C11% 11% 10% 10% 9%
D 33% 46% 73% 84% 89%
N 0% 0% 0% 0% 0%

The table and graph show, for the groups of students whose marks in the examination corresponded to
the borderline between two bands, what percentages of each group selected the responses A, B, C and

D. N is used to identify: No valid response.
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